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Question Id : 68634022978 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group

Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 68634022979 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR Tl H THER I §34 361 © - B ¥l ug ST el § 0
1. 73T & YR IR
2. YD I Y
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RGNS

Options :

68634090801. 1
68634090802. 2
68634090803. 3
68634090804. 4

Question Number : 2 Question Id : 68634022980 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
TR & YR IR S WA TR S :
1. 9%
2. 30Y
3. UHT S YIS

4, IWGER[ & 9

Options :
68634090805. 1
68634090806. 2
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68634090808. 4

Question Number : 3 Question Id : 68634022981 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340908009. 1
68634090810. 2
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Question Number : 4 Question Id : 68634022982 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 5 Question Id : 68634022983 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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3. I UG W BT ST ARI AT &I
4. 19 gl B §H

Options :

68634090817. 1
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68634090819. 3
68634090820. 4
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Question Id : 68634022978 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 68634022979 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 2 Question Id : 68634022980 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
TR & YR IR S WA TR S :
1. 9%
2. 30Y
3. UHT S YIS

4, IWGER[ & 9

Options :
68634090805. 1
68634090806. 2



68634090807. 3
68634090808. 4

Question Number : 3 Question Id : 68634022981 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 4 Question Id : 68634022982 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 5 Question Id : 68634022983 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TS Wed 3 T MR R
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Options :

68634090817. 1
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68634090819. 3
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Sub-Section Number : 2
Sub-Section Id : 686340747
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634022984 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 6 Question Id : 68634022984 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 7 Question Id : 68634022985 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634090827. 3
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Question Number : 7 Question Id : 68634022985 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 8 Question Id : 68634022986 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FEI BT [GaH HHE-T1 87
1. eI
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4. UG

Options :

68634090829. 1
68634090830. 2
68634090831. 3
68634090832. 4
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Question Number : 8 Question Id : 68634022986 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 9 Question Id : 68634022987 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
&I IgAaTar & U Us Wsg HIH-T1 32
1. GHET
ey

3. 9TRad
4, gaeardt

Options :

68634090833. 1
68634090834. 2
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Question Number : 9 Question Id : 68634022987 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
a1 IGaTET & 10 U X8 SIH-11 82
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g
3. Sead
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Options :
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68634090834. 2
68634090835. 3
68634090836. 4

Question Number : 10 Question Id : 68634022988 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 10 Question Id : 68634022988 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 11 Question Id : 68634022989 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 11 Question Id : 68634022989 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 12 Question Id : 68634022990 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 12 Question Id : 68634022990 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 13 Question Id : 68634022991 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634090849. 1
68634090850. 2
68634090851. 3
68634090852. 4

Question Number : 13 Question Id : 68634022991 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634090851. 3
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Question Number : 14 Question Id : 68634022992 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 14 Question Id : 68634022992 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 68634022993 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634090860. 4

Question Number : 15 Question Id : 68634022993 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 16 Question Id : 68634022994 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634090861. 1
68634090862. 2
68634090863. 3
68634090864. 4

Question Number : 16 Question Id : 68634022994 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634090861. 1
68634090862. 2
68634090863. 3
68634090864. 4

Question Number : 17 Question Id : 68634022995 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634090865. 1
68634090866. 2
68634090867 3
68634090868. 4

Question Number : 17 Question Id : 68634022995 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634090865. 1
68634090866. 2
68634090867. 3
68634090868. 4

Question Number : 18 Question Id : 68634022996 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
DY - iy I 4T e a gui =0 F iR 78 g
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3. Fspe 1 eruar sy 1 Ar gl B 1
4. Had 1 ey A glar g
Options :
68634090869. 1
68634090870, 2

68634090871. 3
68634090872. 4

Question Number : 18 Question Id : 68634022996 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. Fad 11 sy @ g B |
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4. Had 1 F=py A glaT g




Options :

68634090869. 1
68634090870. 2
68634090871. 3
68634090872. 4

Question Number : 19 Question Id : 68634022997 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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H S{ITCH EeAT o1 el
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Options :

68634090873. 1
68634090874. 2
68634090875. 3
68634090876. 4

Question Number : 19 Question Id : 68634022997 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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68634090874. 2
68634090875. 3
68634090876. 4

Question Number : 20 Question Id : 68634022998 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634090877. 1
68634090878. 2
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Question Number : 20 Question Id : 68634022998 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 011 301, Srell, T, ST, Ul SR BIT U Gidk H STR &1 3R Hg P 96 81 T5l. 3R
3R Ubdl & 9 § 91 8| Sifte! bl R 0= 781 8 | gl udbdl & g3 alfe 981 g 1 wiian arfigd R
R 751 § | SIT9®] & Q3 alie- B 87

1. AET
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| ]

3.9l

4. Udhdl

Options :

68634090877. 1
68634090878. 2
68634090879. 3
68634090880. 4

Question Number : 21 Question Id : 68634022999 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634090881. 1
68634090882. 2
68634090883. 3
68634090884. 4

Question Number : 21 Question Id : 68634022999 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634090881. 1
68634090882. 2
68634090883. 3
68634090884. 4

Question Number : 22 Question Id : 68634023000 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634090885. 1
68634090886. 2
68634090887. 3
68634090888. 4
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Question Number : 22 Question Id : 68634023000 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634090885. 1
68634090886. 2
68634090887. 3
68634090888. 4
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Question Number : 23 Question Id : 68634023001 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634090889. 1
68634090890. 2
68634090891. 3
68634090892. 4

Question Number : 23 Question Id : 68634023001 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634090889. 1
68634090890. 2
68634090891. 3
68634090892. 4

Question Number : 24 Question Id : 68634023002 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634090893. 1
68634090894. 2
68634090895. 3
68634090896. 4

Question Number : 24 Question Id : 68634023002 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634090893. 1
68634090894. 2
68634090895. 3
68634090896. 4

Question Number : 25 Question Id : 68634023003 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634090897. 1
68634090898. 2
68634090899. 3
68634090900. 4
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Question Number : 25 Question Id : 68634023003 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. 399.0 fopait
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.399.5 fopddl
4. 400.5 Tt

Options :

68634090897. 1
68634090898. 2
68634090899. 3
68634090900. 4
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Part B: Plant Biotechnology

Section Id : 686340456
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300

Enable Mark as Answered Mark for Review and Clear Response : Yes



Maximum Instruction Time : 0

Sub-Section Number : 1
Sub-Section Id : 686340748
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634023004 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 1s labelled as Assertion A and the other 15 labelled as Reason R:
Assertion A : The chlorophyll deficiency 1s seen for the seed viability. plant height and tillering and
chlorophyll deficiency n the somaclonal variants in rice.

Reason R : The plants obtamed after the somaclonal regeneration do not show variations.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A.

(]

. Both A and R are correct but R is NOT the correct explanation of A.
3. A 1s correct but R 1s not correct.

4. A is not correct but R 15 correct.

Options :

68634090901. 1
68634090902. 2
68634090903. 3
68634090904. 4

Question Number : 26 Question Id : 68634023004 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634090901. 1
68634090902. 2

68634090903. 3
68634090904. 4
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Question Number : 27 Question Id : 68634023005 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is NOT a free living. non-symbiotic bacterium?

1. Cyanobacteria

[

. Green sulphur bacteria

. Azotobacter

L]

4. Frankia

Options :

68634090905. 1
68634090906. 2
68634090907. 3
68634090908. 4

Question Number : 27 Question Id : 68634023005 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
F=aRed & 9 314 Us Wad U § Yg-ardl 1R ggeiial siar) g ?
1. g A

B HepR SN
4. Tofcpar

Options :

68634090905. 1

68634090906. 2

68634090907 3
68634090908. 4
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Question Number : 28 Question Id : 68634023006 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements - One 15 labelled as Assertion A and the other 1s labelled as Reason R :

Assertion A : In potato the selected protoclones display stable improvement of agronomic, traits which in turn
include the resistance to late blight.

Reason R : The chromosomally normal plants with the characteristics different from the parental lines display
an improvement of the agronomic traits.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A.

[}

. Both A and R are correct but R is NOT the correct explanation of A.
3. A 1s correct but R 13 not correct.

4, A is not correct but R 15 correct.

Options :

68634090909. 1
68634090910. 2
68634090911. 3
68634090912. 4

Question Number : 28 Question Id : 68634023006 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634090909. 1
68634090910. 2
68634090911. 3
68634090912. 4
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Question Number : 29 Question Id : 68634023007 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Virus free plants propagated via tissue culture can easily be tested by -
1. Microscopy
2. Fluorescence microscopy
3. ELISA

4. Confocal Microscopy

Options :

68634090913. 1
68634090914. 2
68634090915. 3
68634090916. 4

Question Number : 29 Question Id : 68634023007 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634090913. 1
68634090914. 2

68634090915. 3
68634090916. 4
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Question Number : 30 Question Id : 68634023008 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Bio Dart, an effective biopesticide 1s targeted for the crop of -

1. Groundnut

2

. Tea
3. Soybean
4. Chulh

Options :
68634090917. 1
68634090918. 2



68634090919. 3
68634090920. 4

Question Number : 30 Question Id : 68634023008 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FAISTE, S U UHTGRe! Sidd diswmamet 8. 98 60 B9d & aeg Hidl & -
1. Tt

LAl

3. ggEE
4. T

Options :

68634090917. 1
68634090918. 2
68634090919. 3
68634090920. 4
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Question Number : 31 Question Id : 68634023009 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : Trichoderma targets the pathogen Fusarium and could be used for the treatment of diseases like
damping off.

Statement I1 : Trichoderma reduces mycoparasites. Trichoderma acts by nutrient solubilisation.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct.

[

. Both Statement I and Statement II are incorrect.
3. Statement [ is correct but Statement IT 1s incorrect.

4, Statement I is incorrect but Statement II 1s correct.

Options :

68634090921. 1
68634090922. 2
68634090923. 3
68634090924. 4

Question Number : 31 Question Id : 68634023009 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634090921. 1
68634090922. 2
68634090923. 3
68634090924. 4
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Question Number : 32 Question Id : 68634023010 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement I : Protoplasts are plant cells with mntact the cell wall, and are most commonly prepared from leat.

Statement IT : Enzymatic 1solation of protoplast 1¢ more suitable method over mechanical 1solation because
enzymatic protoplast isolation procedure yields less- damaged high quality and pure protoplast.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct.

| ]

. Both Statement I and Statement II are incorrect.
3. Statement I is correct but Statement IT is incorrect.

4. Statement I is incorrect but Statement IT is correct.

Options :

68634090925. 1
68634090926. 2
68634090927. 3
68634090928. 4

Question Number : 32 Question Id : 68634023010 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634090925. 1
68634090926. 2
68634090927. 3
68634090928. 4

Question Number : 33 Question Id : 68634023011 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 1s labelled as Assertion A and the other 1s labelled as Reason R:
Assertion A : Heterocysts are specialized cells with thick cell wall without PS II complex.

Reason R : Thick cell wall and No PS II complex prevents the oxygen diffusion into heterocyst, thus
tacilitates the creation of anoxygenie condition suitable for mtrogenase enzyme.

In the light of the above statements. choose the most appropriate answer from the options given below :
1. Both A and R are correct and R 1s the correct explanation of A.
2. Both A and R are correct but R 1s NOT the correct explanation of A.
3. A 1s correct but R is not correct.

4. A 1s not correct but R 1s correct.

Options :

68634090929. 1
68634090930. 2
68634090931. 3
68634090932. 4

Question Number : 33 Question Id : 68634023011 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634090929. 1
68634090930. 2
68634090931. 3
68634090932. 4

Question Number : 34 Question Id : 68634023012 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Trichoderma are mycofungicides. Choose the correct statements :-

1. They lack the ability to survive under unfavourable conditions.

[

. They are aggressive against phytopathogenic fungi.
3. They can not utilize soil nutrients.

4. They are pathogenic to soil bacteria.

Options :

68634090933. 1
68634090934. 2
68634090935. 3
68634090936. 4

Question Number : 34 Question Id : 68634023012 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634090933. 1
68634090934. 2
68634090935. 3
68634090936. 4
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Question Number : 35 Question Id : 68634023013 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Anther culture / pollen culture though could be performed suceesstully but suffers from poor results and make
it a lesser preferred method because of

A. High degree of albino formation

B. Androgenic albinos show poor differentiation of grana
C. The 23S are totally lacking

D. The 16s are totally lacking

E. The protein 1 are totally lacking

Choose the correct answer from the option given below :
1.AB.C.D.E
2.A.B,C.E only
3.B.C.D.E only

4. C.D.E.Aonly

Options :

68634090937. 1
68634090938. 2
68634090939. 3
68634090940. 4

Question Number : 35 Question Id : 68634023013 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634090937. 1
68634090938. 2
68634090939. 3
68634090940. 4
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Question Number : 36 Question Id : 68634023014 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Contribution of Edward C. Cocking m the field of Tissue culture 1s -

1. Demonstrated somatic embryogenesis for the first time

[

. Protoplast 1solation 1n large scale.
3. Somatic cell hybridization in plants.

4. Father of plant tissue culture.

Options :

68634090941. 1
68634090942. 2
68634090943. 3
68634090944. 4

Question Number : 36 Question Id : 68634023014 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634090941. 1
68634090942. 2
68634090943. 3
68634090944. 4

Question Number : 37 Question Id : 68634023015 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |[Endangered plants [. |Isolation of Superior variant
B. Micropropagation Technique| II. [Propagation methods
C. |Grafting, Cutting II1. [Conserved by Micropropagation]
D. |Secondary Metabolites IV |Produces large number of plants
Choose the correct answer from the options grven below:

1. A-I, B-II. C-III, D-IV

| B}

AL B-IV, C-IT, D-I
3. A-IL B-IIIL C-IV, D-I

4. A-IV, B-1. C-111, D-II

Options :

68634090945. 1
68634090946. 2
68634090947. 3
68634090948. 4

Question Number : 37 Question Id : 68634023015 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



& 1 61 YT 1 8 gaferd Sife
| b T I

[ cTad Uley I |88 159U &1 guD Hl
G&F Uge ao-io| 11 [aas= fafd

=R, Hed I11. [9&H Uae- gRI S&U
Ediae Juragygs | IV [gat @ § iyl &1 3died

frafead fawed | I Wel S &1 907 DI -
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. A-IIL B-IV, C-II. D-I

CA-IL B-IIILL C-IV, D-I
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4. A-IV. B-1. C-III. D-IT

Options :

68634090945. 1
68634090946. 2
68634090947. 3
68634090948. 4

Question Number : 38 Question Id : 68634023016 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : High number of Transaminases are present in microorganisms.

Statement IT : Glutamate dehydrogenase and Transaminase work in cooperation under high ammonia
concentration and assimilate ammonia m a variety of amino acids.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct.

[

. Both Statement I and Statement II are incorrect.

. Statement I 15 correct but Statement IT 1s incorrect.

[ 5]

4, Statement I is incorrect but Statement IT 15 correct.

Options :

68634090949. 1
68634090950. 2
68634090951. 3
68634090952. 4

Question Number : 38 Question Id : 68634023016 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634090949. 1
68634090950. 2
68634090951. 3
68634090952. 4

Question Number : 39 Question Id : 68634023017 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 1s labelled as Assertion A and the other 1s labelled as Reason R :

Assertion A : Exogenous application of gibberellic acid (GA3) mlibits the somatic embryogenesis of carrot in

non embryogenic callus.
Reason R : Gibberellic acid was 1solated from filtrates of cultured fungus, Gibberella, fujikenai.
In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R 1s the correct explanation of A.

[

. Both A and R are correct but R 1s NOT the correct explanation of A.

. A is correct but R 1s not correct.

[ 5]

4, A 1s not correct but R 1s correct.

Options :

68634090953. 1
68634090954. 2
68634090955. 3
68634090956. 4

Question Number : 39 Question Id : 68634023017 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634090953 1
68634090954. 2
68634090955. 3
68634090956. 4
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Question Number : 40 Question Id : 68634023018 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Upon performing micropropagation in Jatropha curcas, it was observed that the callus would repeatedly
become brown and die. What could be the most probable reasons :

1. Repeated sub-culturing

[

. The MS. medium was supplemented with sucrose which led to browning.

. Explant secreted phenolic compounds and there was oxidation in explant tissues.

L

4, The nature of callus was brown and friable.

Options :

68634090957. 1
68634090958. 2
68634090959. 3
68634090960. 4

Question Number : 40 Question Id : 68634023018 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634090957. 1
68634090958. 2
68634090959. 3
68634090960. 4

T

Question Number : 41 Question Id : 68634023019 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements - One is labelled as Assertion A and the other is labelled as Reason R :
Assertion A : Ideal tissue for the plant tissue culture 1s apical meristem.

Reason R : The viruses are unable to take over control of the host biosynthetic machinery. Auxins in
meristems inhibit viruses.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A.

[

. Both A and R are correct but R is NOT the correct explanation of A.
3. A 1s correct but R 13 not correct.

4. A 15 not correct but R 1s correct.

Options :

68634090961. 1
68634090962. 2
68634090963. 3
68634090964. 4

Question Number : 41 Question Id : 68634023019 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634090961. 1

68634090962. 2

68634090963. 3
68634090964. 4
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Question Number : 42 Question Id : 68634023020 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement I : Abscisic acid antagonizes the growth promoted by Gibberellic acid.

Statement IT : Gibberellic acid promote tracheary element differentiation in Jerusalem ertichoke while
Abseisic acid mmhibited induction of tracheary element in callus cultures of J. artichole.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct.

[

. Both Statement I and Statement II are incorrect.
3. Statement I is correct but Statement IT is incorrect.

4, Statement I is incorrect but Statement IT 15 correct.

Options :

68634090965. 1
68634090966. 2
68634090967 3
68634090968. 4

Question Number : 42 Question Id : 68634023020 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634090965. 1
68634090966. 2
68634090967 3
68634090968. 4

Question Number : 43 Question Id : 68634023021 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Microbial application m agriculture involves.

1. Use of bacteria. fungi and viruses as biopesticides and bioinsecticides.

[

. Only Bacillus species can be used.
3. Pseudomonas putida is activated by binitrosubstituted toluene

4. Pseudomonas putida 1s activated by trinitrosubstituted toluene

Options :

68634090969. 1
68634090970. 2
68634090971. 3
68634090972. 4

Question Number : 43 Question Id : 68634023021 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634090969. 1
68634090970. 2
68634090971. 3
68634090972. 4

-

| ]

Lad

s

Question Number : 44 Question Id : 68634023022 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

One of the statements about the hydrogenase 15 not true

1. Bacteriods do not utilize hydrogenases. which 1s used for generating ATP.

[

. Hydrogen 1s also produced during nitrogen fixation.
3. The formation of molecular hydrogen 1s seen during nitrogen fixation n clover field.

4. Hydrogenase has no role to play in nitrogen fixation.

Options :

68634090973. 1
68634090974. 2
68634090975. 3
68634090976. 4

Question Number : 44 Question Id : 68634023022 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634090973. 1
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68634090974. 2
68634090975. 3
68634090976. 4

Question Number : 45 Question Id : 68634023023 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The chromosomal elimination involves the endonuclease activation and genome specific fragmentation, which
leads to :

1. Programmed cell death

[

. Removal of alien genome

. Generation of small DNA Okazaki fragments

LS

4. DNA replication

Options :

68634090977. 1
68634090978. 2
68634090979. 3
68634090980. 4

Question Number : 45 Question Id : 68634023023 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

URETG S H UUS =Y[dus $I ishgul AR (5117 (92 [ae s i 8. 9 SR G § 2
1. TIoHTEG PRSP TG

. Tae=il i 1 3=

. Bl BT SAIPID! Wel BT FdrgT

BSIRG AR CEARDE

Options :

68634090977. 1
68634090978. 2
68634090979. 3
68634090980. 4
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Question Number : 46 Question Id : 68634023024 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Induced fusion of freely 1solated protoplasts from different sources could be performed by (One statement 1s
not correct)

1. As the surface of 1solated protoplast loses negative charges (—10 mV to —30 mV) around the plasma
membrane (outer surface) which would otherwise repel each other.

[

. Induced fusion may be performed either in the presence of sutable fusogen.

3. Fusagen. which includes sodium nitrate

4, Treatment with calcium ions (Ca™™ at high PH)

Options :

68634090981. 1
68634090982. 2
68634090983. 3
68634090984. 4

Question Number : 46 Question Id : 68634023024 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634090981. 1
68634090982. 2
68634090983. 3
68634090984. 4

Question Number : 47 Question Id : 68634023025 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In nature haploidy 1s controlled by gene/s

1. Smgle gene called as haploid inhibitor genes

[

. CRY genes

3. HIV genes

s

. Multiple genes associated with HSP proteins

Options :

68634090985. 1
68634090986. 2
68634090987. 3
68634090988. 4

Question Number : 47 Question Id : 68634023025 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
yarid I SAfOraT & foy ofiH gR1 Fifd fear s 8
1. U o, [ SA7fora wfeRied S ®g1 9rar &
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Options :

68634090985. 1
68634090986. 2
68634090987. 3
68634090988. 4
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Question Number : 48 Question Id : 68634023026 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In Vivo production of haploids can not be performed by

1. Pollination method (standard)

(]

. Pollination with irradiated pollen
3. Pollmnation using wide relative
4. Pollination using unrelated species
Options :

68634090989. 1
68634090990. 2



68634090991. 3
68634090992. 4

Question Number : 48 Question Id : 68634023026 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634090989. 1
68634090990. 2
68634090991. 3
68634090992. 4

Question Number : 49 Question Id : 68634023027 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Crown gall I. |Spores of antagonistic fungi
B. [Bacteriocins 11 [Infects bacteria
C. |Bacteriophage II1. |Agrobacterium tumefaciens
D. |Post harvest loss control| IV, [Colicins and phage tail like

Choose the correct answer from the options given below:

1. A-IIL, B-IV, C-II, D-I

| ]

CA-TV, B-IILL C-1, D-II
3. A-L B-1I. C-ITI. D-IV

4. A-I1. B-1. C-IV, D-III

Options :

68634090993. 1
68634090994. 2
68634090995. 3
68634090996. 4

Question Number : 49 Question Id : 68634023027 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

il 1 61 gl 11 8 foaH Sifey
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1. A-IIL. B-IV, C-II, D-I

)

CA-IV, B-I11, C-1. D-II
3. A-L B-II, C-IT1. D-IV

4. A-I1. B-I. C-IV. D-III

Options :

68634090993. 1
68634090994. 2
68634090995. 3
68634090996. 4

Question Number : 50 Question Id : 68634023028 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 1s labelled as Assertion A and the other is labelled as Reason R :

Assertion A : After suitable treatment of plant tissue explants with cellulase and macerozyme enzyme
mixtures. the protoplasts are 1solated and the whole suspension is floated on 21% sucrose and centrifuged to

obtain a pure preparation of protoplasts collected at the mter phase.

Reason R : 21% Sucrose in addition to providing a denser medium, also has a higher Osmoticum. This results

in preparation of high volume protoplasts.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A.

[

. A 15 correct but R 15 not correct.

LS

4. A is not correct but R 1s correct.

Options :

68634090997. 1
68634090998. 2
68634090999. 3
68634091000. 4

. Both A and R are correct but R 1s NOT the correct explanation of A.




Question Number : 50 Question Id : 68634023028 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634090997. 1
68634090998. 2
68634090999. 3
68634091000. 4

Question Number : 51 Question Id : 68634023029 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The conventional method to produce homozygous plants 1s lengthy and requires 7-8 recurrent cycles of
mnbreeding. The advantage of the homozygous plants obtained by diploidization of haploids include :

A. Detection of recessive mutants

B. Production of stable homozygous dihaploids
C. Detection of dominant mutants

D. Pollen culture

Choose the correct answer from the options given below :
1. A.B. C only
2.A.B.Donly
3.B.C,D only

4. A, C.D only

Options :

68634091001. 1
68634091002. 2
68634091003. 3



68634091004. 4

Question Number : 51 Question Id : 68634023029 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634091001. 1
68634091002. 2
68634091003. 3
68634091004. 4
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Question Number : 52 Question Id : 68634023030 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Essential step for protoplast development 1s removal of cell wall without damaging the cell constituents. These
the cells show following features :

1. Irresistable expansion of protoplasts.

[}

. The 1solated protoplast are osmotically sturdy/strong.

L]

. Large populations of variable protoplast amounts are required.

4. Generalized guidelines for cell wall removal for all plant cells are applied.

Options :

68634091005. 1
68634091006. 2
68634091007. 3
68634091008. 4



Question Number : 52 Question Id : 68634023030 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634091005. 1
68634091006. 2

68634091007. 3
68634091008. 4
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Question Number : 53 Question Id : 68634023031 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Multistep conversion of nitrogen to ammonia requires :
1. 16 ATP
2. 8ATP
3. 0 ATP
4. 4 ATP

Options :

686340910009. 1
68634091010. 2
68634091011. 3
68634091012. 4

Question Number : 53 Question Id : 68634023031 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. 16 ATP

| ]

. 8ATP

. 6 ATP

T

4 4 ATP

Options :

68634091009. 1
68634091010. 2
68634091011. 3
68634091012. 4

Question Number : 54 Question Id : 68634023032 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
[nhibits growth but also promotes

A |Growth regulators| 1. ; ;
= somatic embryogenes 1s
B. [Auxins II. [BAP. Zeatin
C. |Cytokinin IIT_|0.001 - 10uM amounts
D. [Ettviene v Elopgahon of stem, tropism,
; rooting

Choose the correct answer from the options given below:
1. AL B-1. C-II, D-IV
2. AL B-IIL, C-IV, D-I
3. A-IIIL B-IV, C-I1, D-I
4. A-I. B-II. C-IIL, D-IV

Options :

68634091013. 1
68634091014. 2
68634091015. 3
68634091016. 4

Question Number : 54 Question Id : 68634023032 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-IIL. B-1, C-1I. D-IV

of o] w]»

)

. A-IL B-III. C-IV, D-I

CA-IILL B-IV, C-I1, D-I

L]

4. A-L. B-II. C-III. D-IV

Options :

68634091013. 1
68634091014. 2
68634091015. 3
68634091016. 4

Question Number : 55 Question Id : 68634023033 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement I : Shoot meristem culture was first applied to obtain virus free plants.

Statement IT : Shoot meristem cultures are potential alternatives to more commonly used methods for cereal
regeneration as they are less genotype dependent and are more efficient.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct.

[ )

. Both Statement I and Statement IT are incorrect.
3. Statement I is correct but Statement IT is incorrect.

4, Statement I is incorrect but Statement IT is correct.

Options :

68634091017. 1
68634091018. 2
68634091019. 3
68634091020. 4

Question Number : 55 Question Id : 68634023033 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Options :

68634091017. 1
68634091018. 2
68634091019. 3
68634091020. 4
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Question Number : 56 Question Id : 68634023034 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : In somatic embryogenesis, presence of auxin leads to callus differentiation into proembryonic
masses, which develop mto only globular stage.

Statement IT : Removal of auxin allows the differentiation of proembryonic masses further mto globular heart
and torpedo stages to form. dicotyledonous embryo.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct.

2

. Both Statement I and Statement II are incorrect.
3. Statement I is correct but Statement IT is incorrect.

4. Statement I is incorrect but Statement IT 1s correct.

Options :

68634091021. 1
68634091022. 2
68634091023. 3
68634091024. 4

Question Number : 56 Question Id : 68634023034 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634091021. 1
68634091022. 2
68634091023. 3
68634091024. 4
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Question Number : 57 Question Id : 68634023035 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Trichoderma viride could be used for biocontrol of the pathogen :
1. Fusarium
2. Pythium
3. Both Fusarium and Pythium
4. Aspergillus

Options :

68634091025. 1
68634091026. 2
68634091027. 3
68634091028. 4

Question Number : 57 Question Id : 68634023035 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634091025. 1
68634091026. 2
68634091027. 3
68634091028. 4
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Question Number : 58 Question Id : 68634023036 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Cybrids are unique cytoplasmic hybrids that could be obtained by using :

A. fusion of normal protoplast from one parent with enucleated protoplast from another.
B. enucleated protoplast can be obtained by irradiation treatment.

C. fusion of protoplast from one parent with the protoplast containing non-viable nuclei.
D. fusion of cells after subjecting both to gamma irradiation.

E. fusion of one normal cell with one of gamma irradiated cell.

Choose the correct answer from the option given below :

1.E.B. A, C only

[

.B.C.D. Aonly
3.A.C.D.E only

4. A, C. Eonly

Options :

68634091029.
68634091030.
68634091031.
68634091032.

AW N =

Question Number : 58 Question Id : 68634023036 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634091029. 1
68634091030. 2
68634091031. 3
68634091032. 4
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Question Number : 59 Question Id : 68634023037 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements : One 1s labelled as Assertion A and the other 1s labelled as Reason R :
Assertion A : Callus culture obtained from the infected viral plants can not be raised as free from virus.
Reason R : The virus requires plant cells for replication. It 1s not able to divide and as the cells continue to
divide and increase in number the titre of the virus comes down. The reduction is dependent on the rate of calli
drvision and the fime of subculture.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A.

2

. Both A and R are correct but R is NOT the correct explanation of A.
3. A 1s correct but R 1s not correct.

4. A 1s not correct but R 1s correct.

Options :

68634091033. 1
68634091034. 2
68634091035. 3
68634091036. 4



Question Number : 59 Question Id : 68634023037 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634091033. 1
68634091034. 2

68634091035. 3
68634091036. 4
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Question Number : 60 Question Id : 68634023038 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST1I LISTII
A Microscope I. |Chromosome doubling agent
B. |Colchicine II. PMale gametophvie
Casei
: h;d::;rll}-';ate I11. [lmmature pollen
- |Source of a mixture of amino acids
B Pollen B added to culture medium

Choose the correct answer from the options given below:

1. A-IIL B-IL, C-IV, D-I

!u

A-IL B-1. C-IV, D-II
3. A-l. B-III, C-II. D-IV
4. A-L. B-II. C-III. D-IV
Options :

68634091037. 1
68634091038. 2



68634091039. 3
68634091040. 4

Question Number : 60 Question Id : 68634023038 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-IIL. B-II, C-IV, D-I

)

A-IIL B-I. C-IV. D-II

CA-L BT C-I1L, D-IV

Lad

4. A-L. B-II. C-III. D-IV

Options :

68634091037. 1
68634091038. 2
68634091039. 3
68634091040. 4

Question Number : 61 Question Id : 68634023039 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements - One is labelled as Assertion A and the other is labelled as Reason R :

Assertion A : Ploidy levels that are unstable include those where it is lower than that of species. On the other
hand the ploidy of higher levels are usually more stable.

Reason R : The ploidy is related with the change in the genetic information inherited by the progeny.
In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R 1s the correct explanation of A.

[

. Both A and R are correct but R 1s NOT the correct explanation of A.

. A is correct but R 1s not correct.

L]

4. A is not correct but R 1s correct.

Options :
68634091041. 1



68634091042. 2
68634091043. 3
68634091044. 4

Question Number : 61 Question Id : 68634023039 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634091041. 1
68634091042. 2

68634091043. 3
68634091044. 4
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Question Number : 62 Question Id : 68634023040 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The micropropagation provides the advantage where commercially many forest/fruit, trees. medicinal plants,
ornamental crops are propagated. The distinet feature of these plants are :

1. Plants are clonal in nature which are in large number and are called propagates.

. Plants obtained have unstable genotype.

[

. Somaclonal variations are not seen

LS ]

4, They are prone to infection

Options :

68634091045. 1
68634091046. 2
68634091047. 3
68634091048. 4

Question Number : 62 Question Id : 68634023040 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634091045. 1

68634091046, 2

68634091047. 3
68634091048. 4
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Question Number : 63 Question Id : 68634023041 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. Quick wilt disease of black pepper could be treated by biocontrol agents.

B. The two fungi genera Trichoderma and Gliocladium are found to be effective.

C. Only Gliocladium 1s found to be effective.

D. Quick wilt disease treatment by biocontrol agent 1s cheaper then the chemical method.
E. Only Trichoderma could be used for treatment.

Choose the correct answer from the option given below :
1. A.B. C only
2.B.C,D.E only
3.E.C.D. Aonly

4.B.D. E only

Options :

68634091049. 1
68634091050. 2
68634091051. 3
68634091052. 4

Question Number : 63 Question Id : 68634023041 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634091049. 1
68634091050. 2
68634091051. 3
68634091052. 4
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Question Number : 64 Question Id : 68634023042 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The tissue culture medium commonly used for anther culture 1s the formulation of

1. Murashige and Skoog (1962)

2

. Nitsch and Nitrsh (1969)

faa

. Khundson (1946)

4. Linrmaies and Skoog (1965)

Options :

68634091053. 1
68634091054. 2
68634091055. 3
68634091056. 4

Question Number : 64 Question Id : 68634023042 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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P (1946)
4. TR 3R pT (1965)
Options :
68634091053. 1
68634091054. 2

68634091055. 3
68634091056. 4

Question Number : 65 Question Id : 68634023043 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The most popular media formulation for culture of protoplasts 1s :
1. White's
2. MS
3. B5

4, Basal media

Options :

68634091057. 1
68634091058. 2
68634091059. 3
68634091060. 4

Question Number : 65 Question Id : 68634023043 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4. 99T A1H

Options :
68634091057. 1
68634091058. 2



68634091059. 3
68634091060. 4

Question Number : 66 Question Id : 68634023044 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Crop improvement through tissue culture 1s possible 1f the explant regenerates into

A Callus

B. Roots

C. Leaves

D. Complete plant
E. Shoot

Choose the correct answer from the option given below :

1. A only

| B

. A and B only
3.A.B.C.E only

4. D only

Options :

68634091061. 1
68634091062. 2
68634091063. 3
68634091064. 4

Question Number : 66 Question Id : 68634023044 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634091061. 1
68634091062. 2
68634091063. 3
68634091064. 4

Question Number : 67 Question Id : 68634023045 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following factors do not affects the shoot bud formation?

1. Culture medium composition

[

. Genotype of the plant

LS}

. Choice of the explant

4. Method of transformation of callus obtained from the explant

Options :

68634091065. 1
68634091066. 2
68634091067. 3
68634091068. 4

Question Number : 67 Question Id : 68634023045 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634091065. 1
68634091066. 2
68634091067. 3
68634091068. 4

-J
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Question Number : 68 Question Id : 68634023046 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Float culture method 1s a well-established technique for the

1. Mechanical 1solation of pollen from the fresh precultures material

[

. Cold treated anther culture on liquid material
3. Liberation of pollen grains in media

4. Spontaneous dehiscing anthers by using l-zserine

Options :

68634091069. 1
68634091070. 2
68634091071. 3
68634091072. 4

Question Number : 68 Question Id : 68634023046 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634091069. 1
68634091070. 2
68634091071. 3
68634091072. 4
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Question Number : 69 Question Id : 68634023047 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Protoplasts are ideal system for manipulation of cytoplasmic genes and in the making of cybrids. To obtain
protoplast one needs to remove the cell wall of plant cells. It can be achieved by treating cells or tissues.

1. Cellulase
2. Macrozyme and pectinase

. Cellulase and pectinase mixture

L

4. B-glucuronidage

Options :
68634091073. 1



68634091074. 2
68634091075. 3
68634091076. 4

Question Number : 69 Question Id : 68634023047 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i e i

die e, SIREEal oiHl & daard & 00 Uh 316 0 & UIeTwRe W &3 & 0L, 918 SRS Sf
ﬁﬁm’f‘%ﬁﬁﬁﬁfmﬁﬁ&nﬁwﬁ% | T8 BT SIS a1 Sa® @ [ud SU=R 3¢ foar
TSl ?

| de

. BRI a1 vad e

. eiSl SR Uge S &1 [
4. pTIERIMSS

Options :

68634091073. 1

68634091074. 2

68634091075. 3
68634091076. 4
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Question Number : 70 Question Id : 68634023048 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pathogen associated with molecular patterns (PAMPS) are

1. The first line of defense from the invading pathogens

[

. Non-immunogenic response of plants
3. Present in healthy plants

4. Present in the physical barrier present in the epidernmis and periderm

Options :

68634091077. 1
68634091078. 2
68634091079. 3
68634091080. 4

Question Number : 70 Question Id : 68634023048 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634091077. 1
68634091078. 2
68634091079. 3
68634091080. 4
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Question Number : 71 Question Id : 68634023049 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The axillary buds :

A. Are preexisting meristems.

B. Have advantage of true to type progeny.

C. Application of cytokinin will stop the growth of axillary buds.

D. Application of cytokinin will enable axillary buds to grow in presence of apical buds.
E. Axillary buds show variation amongst the different plants.

Choose the correct answer from the option given below :

1. AB.C.D.andE

| S

.C.D. E only
3.A.B.C.Donly

4. A.B.D.E only

Options :

68634091081. 1
68634091082. 2
68634091083. 3
68634091084. 4

Question Number : 71 Question Id : 68634023049 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4. %dd A, B.D 3R E

Options :

68634091081. 1
68634091082. 2
68634091083. 3
68634091084. 4

| ]

L]

Question Number : 72 Question Id : 68634023050 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Auxms are mvolved in many processes associated with plant development. The synthetic auxin include
1. Indole acetic acid
2. Benzo aminopurine

3. Zeatin

oy

. Diphenyl-1-urea

Options :

68634091085. 1
68634091086. 2
68634091087. 3
68634091088. 4

Question Number : 72 Question Id : 68634023050 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634091085. 1
68634091086. 2
68634091087. 3
68634091088. 4

-

| ]
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Question Number : 73 Question Id : 68634023051 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Some vitamins are essential components of tissue culture media. They are essentially involved in ¢

1. Growth regulator functions

()

. Dehydrate the medinm

[ N]

. Hydrate the culture medium

4. Have catalytic function in enzymatic reactions

Options :

68634091089. 1
68634091090. 2
68634091091. 3
68634091092. 4

Question Number : 73 Question Id : 68634023051 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Sad Hat g1 8§ $© [AeitF ag@ gld s | d ® IR g 2
1. IS e o
. 1N P [Feid AT
3. e Oy &1 St B

[ )

 TomeHt sifiyforarall § IaR® &1 &

e

Options :
68634091089. 1



68634091090. 2
68634091091. 3
68634091092. 4

Question Number : 74 Question Id : 68634023052 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The method(s) used for somatic cell hybridization are :

A. Electroporation
B. High pH/Ca®"
C. PEG
D. Particle bombardment
E. Micro-injection
Choose the correct answer from the option given below :
1. A and C only
2. Aand D only

.B and C only

T

4. B and E only

Options :

68634091093. 1
68634091094. 2
68634091095. 3
68634091096. 4

Question Number : 74 Question Id : 68634023052 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1.Pad AR C
. Padd ATID
3. ®ad B 3R C

4. HIAB AR E

Options :

68634091093. 1
68634091094. 2
68634091095. 3
68634091096. 4

| ]

Question Number : 75 Question Id : 68634023053 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Objectrve of plant transformation relies on the following except :

1. DNA modifying enzymes

[

. Totipotency of plant cells used for transformation
3. Plant tissue culture

4. Plasticity in the experimental plants

Options :

68634091097. 1
68634091098. 2
68634091099. 3
68634091100. 4

Question Number : 75 Question Id : 68634023053 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634091097. 1
68634091098. 2
68634091099. 3
68634091100. 4

| ]

Question Number : 76 Question Id : 68634023054 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following essential macronutrient compound 1s NOT a component of typical plant culture
medium?

1. NH,NO;

[ ]

MgSO, TH,0

faa

MnSO,-4H,0

Options :

68634091101. 1
68634091102. 2
68634091103. 3
68634091104. 4

Question Number : 76 Question Id : 68634023054 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
F=aRed & 9 $1H 91 I gedN® Jiie, U W=l a8 A1 &1 Ued 751 6 ?

1. NH,NO,

| ]

. MgSO0,:TH,0

T

. MnSO,44H,0
4. CaCly2H,0

Options :



68634091101. 1
68634091102. 2
68634091103. 3
68634091104. 4

Question Number : 77 Question Id : 68634023055 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Obtaining pure line 1s an important step n breeding crops. Single Seed Descent (SSD) 1s the conventionaly
used method which takes many years to achieve the objectives. A best shorteut method by Tissue culture could

be:

A. Micropropagation
B. Protoplast culture
C. Doubled Haploidy
D. Wide hybridization
E. Transgenesis

Choose the most appropriate answer from the option given below :

1. B only

]

. C only
3.D only
4. A only

Options :

68634091105. 1
68634091106. 2
68634091107. 3
68634091108. 4

Question Number : 77 Question Id : 68634023055 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634091105. 1
68634091106. 2
68634091107. 3
68634091108. 4

[ ]

Question Number : 78 Question Id : 68634023056 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Present status and future needs for making biopesticides popular requires .

A. Quality of available biopesticides should be improved.

B. Farmer awareness program.

C. Research and Development only in BT and Neem based biopesticides.
D. More research in laboratory with limited field verification.

E. Registration of bioformulation.

Choose the correct answer from the option given below :
1. A.B. E only
2.B.C,Donly
3.A.C.Donly

4.B.E. C only

Options :

68634091109. 1
68634091110. 2
68634091111. 3



68634091112. 4

Question Number : 78 Question Id : 68634023056 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

aoaE Rl SR yiaw &t sravgearsi & R SiasdsH-IREl &1 et a1 & g fBast
HTGH Bl & -
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C. Had diel AR 1 W ARG Sidsies-EEl iR sauM 3R fae™

D. It fthes womiuresarl & 91y TrTal § Seaies ssuH
E. Wlfdd YUl &1 USi[dRU]

< & e fae el # Het 3R &1 999 B |
1.Pdd A, B.E

.$dd B, C.D

. A A, C.D

4. PdUB,E, C

Options :

68634091109. 1
68634091110. 2
68634091111. 3
68634091112. 4

[ ]

Laa

Question Number : 79 Question Id : 68634023057 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The prineiple objective of micropropagation 1s

1. to produce progeny plants with genotype identical to their parent plants.

[

. to produce progeny plants with genotype superior to their parent plants.

LS}

. to produce progeny plants with desired genotype.
4. There 15 no control on the genotype of plants produced by micro propagation

Options :

68634091113. 1
68634091114. 2
68634091115. 3
68634091116. 4



Question Number : 79 Question Id : 68634023057 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Y& Uge &1 5= 5 A3 2
1. 5% UIgH! 97 9HM SiFIesy ard Sdd qgdl o1 SdTad
. 9 UTgyl I 9y Sy dare Hddl urgyl BT e

. gifesd SiiHTeTSY a1 Hddl U1gq I

| )

Lad

. & wat gRI SdIied YIayl & SiHIergy UR g U0 8! oidl

s

Options :

68634091113. 1
68634091114. 2
68634091115. 3
68634091116. 4

Question Number : 80 Question Id : 68634023058 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Jasmonates play important roles in plants. This includes :

1. Cell division in shoots and roots

[

. Promote stomatal closure

. Promote cell expansion

L8]

4. Pollen tube production and response to pathogenic invasion

Options :

68634091117. 1
68634091118. 2
68634091119. 3
68634091120. 4

Question Number : 80 Question Id : 68634023058 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634091117. 1
68634091118. 2
68634091119. 3
68634091120. 4
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Lad

Question Number : 81 Question Id : 68634023059 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s NOT mvolved m ammonia assimilation at low concentration of ammonia?

1. Glutamine synthetase, Glutamate synthetase and Transaminase

2

. Glutammme. Glutamate and a-ketoglutarate
3. Glutamate synthetase, u-ketoglutarate and succinate dehydrogenase

4. Glutamate., Glutamine synthetase and NADPH

Options :

68634091121. 1
68634091122. 2
68634091123. 3
68634091124. 4

Question Number : 81 Question Id : 68634023059 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634091121. 1



68634091122. 2
68634091123. 3
68634091124. 4

Question Number : 82 Question Id : 68634023060 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The successtul transfer of disease resistance through protoplast fusion is reported in

1. Potato

2

. Tomato

. Citrus

L]

4. Potato. Tomato and Citrus

Options :

68634091125. 1
68634091126. 2
68634091127. 3
68634091128. 4

Question Number : 82 Question Id : 68634023060 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634091125. 1
68634091126. 2
68634091127. 3
68634091128. 4
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Question Number : 83 Question Id : 68634023061 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Plating density 1s one of the important factor in the success of protoplast culture. The general plating density
employed for protoplast culture is -

1. 1%107 to 1x10° protoplast ml™!

[ ]

- 1x10" to 1+107 protoplast mI!

- 1x107 to 110® protoplast mI™!

L 5]

4. 1%10% to 1x10° protoplast ml™!

Options :

68634091129. 1
68634091130. 2
68634091131. 3
68634091132. 4

Question Number : 83 Question Id : 68634023061 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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. 1x101 ¥ 1x10? HleTwRe 41 el
3. 1x107 ¥ 1x10® HieTwre Hi el
4. 110 F 1x10° WieTre 4idl !

Options :

68634091129. 1
68634091130. 2
68634091131. 3
68634091132. 4
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Question Number : 84 Question Id : 68634023062 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



By which of the following methods can protoplast isolation be carried out

A. Protoplast 1solation uses mechanical methods.

B. Protoplast 1solation uses enzymatic method.

C. Protoplast 1solation can be performed by electrofusion.

D. Protoplast 1solation can be performed by chemical method.

E. Protoplast 1solation was performed for the first time by Cocking in 1960.

Choose the correct answer from the option given below :
1. C.D. E only
2.A.B.E only
3.A.C.E only

4.B.D. E only

Options :

68634091133. 1
68634091134. 2
68634091135. 3
68634091136. 4

Question Number : 84 Question Id : 68634023062 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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3.%ad A, C SRE

4, $ad B, D IARE

Options :

68634091133. 1
68634091134. 2
68634091135.3
68634091136. 4

)



Question Number : 85 Question Id : 68634023063 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Axillary buds from plants could be used for

A. Multiplication using cytokinins.

B. Multiple shoot production from preexisting axallary buds.

C. Multiplication can be achieved by the adventitious bud formation from leaf.
D. Multiplication can be achieved by the adventitious bud formation from stem.
E. Multiplication can be achieved by the adventitious bud formation from petiole.

Choose the correct answer from the option given below :

1.LAC.B,D.E

| ]

A B.C.Donly
3.A.B. Conly

4. A.B.D.E only

Options :

68634091137. 1
68634091138. 2
68634091139. 3
68634091140. 4

Question Number : 85 Question Id : 68634023063 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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3. PAUA,B.C
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Options :
68634091137. 1
68634091138. 2

)



68634091139. 3
68634091140. 4

Question Number : 86 Question Id : 68634023064 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The type of explants which commonly gives best regeneration in plant Tissue culture 1s -

1. Mature leaves

2

. Mature Stem

Faat

. Embryo

4, Seeds

Options :

68634091141. 1
68634091142. 2
68634091143. 3
68634091144. 4

Question Number : 86 Question Id : 68634023064 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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 ORgag 1

YU
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Options :

68634091141. 1
68634091142. 2
68634091143. 3
68634091144. 4
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Question Number : 87 Question Id : 68634023065 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement I : Somatic cell hybridization can be used for partial genome transfer from wild plant species to
cultivated species.

Statement IT : Gamma or X-urradiation of the donor protoplasts results in activation of cytoplasm. which fails
to divide.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct.

[}

. Both Statement I and Statement II are incorrect.
3. Statement I is correct but Statement IT is incorrect.

4, Statement I is incorrect but Statement IT 15 correct.

Options :

68634091145. 1
68634091146. 2
68634091147. 3
68634091148. 4

Question Number : 87 Question Id : 68634023065 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634091145. 1
68634091146. 2
68634091147. 3
68634091148. 4

Question Number : 88 Question Id : 68634023066 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Elite plants are multiplied for the comumercial production of bioactive compounds by -

1. Bioreactors

[

. Micropropagation

. Protoplast culture

[~

4. Float culture

Options :

68634091149. 1
68634091150. 2
68634091151. 3
68634091152. 4

Question Number : 88 Question Id : 68634023066 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634091149. 1
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68634091151. 3
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Question Number : 89 Question Id : 68634023067 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements are true :

A. Agrobacterium Tumefaciens has T1 plasmud 1n 1ts cells.

B. Ti plasmid is responsible for tumor induction in dicot plants.

C. Ti plasmid had T-DNA, which 1s responsible for the insertion of target gene mn the host plant.
D. Tumor inducing genes present in Ti plasmid are retained for infection of the host plants.

Choose the correct answer from the option given below :

1. A. B and C only

[

.A. B and D only

LS

.B. C and D only

4. A, C and D only

Options :

68634091153. 1
68634091154. 2
68634091155. 3
68634091156. 4

Question Number : 89 Question Id : 68634023067 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634091153. 1
68634091154. 2
68634091155. 3
68634091156. 4
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Question Number : 90 Question Id : 68634023068 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 1s labelled as Assertion A and the other 1s labelled as Reason R :

Assertion A : The complementation of the biochemical and the genetic traits of the fusion partners are
unportant features associated with formation of the hybrid cells.

Reason R : The manual and the electronic sorting of the heterokaryon and the hybrid cells are important.
Different methods for selection of hybrid cells or their products could include the morphological basis.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R 1s the correct explanation of A.

[

. Both A and R are correct but R 1s NOT the correct explanation of A.
3. A is correct but R is not correct.

4. A 1s not correct but R 1s correct.

Options :

68634091157. 1
68634091158. 2
68634091159. 3
68634091160. 4

Question Number : 90 Question Id : 68634023068 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634091157. 1
68634091158. 2
68634091159. 3
68634091160. 4

[ )
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Question Number : 91 Question Id : 68634023069 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

In vitro production of haploids 1s influenced by a number of factors. Which of the following do not mfluence
androgenesis -

1. Endogenous factors

[ ]

. Exogenous factors

%]

. Genotype of the donor plant

4. Salt concentrations

Options :

68634091161. 1
68634091162. 2
68634091163. 3
68634091164. 4

Question Number : 91 Question Id : 68634023069 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[
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1. S{ei-id PRP

 SIEIl-d PR

ST 1™ &1 Hfeilergy
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Options :

68634091161. 1
68634091162. 2
68634091163. 3
68634091164. 4

Question Number : 92 Question Id : 68634023070 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The nodule formation and the influence of various phytochemicals are listed :

A. Cytokiins influence the corticular cellular division in legume roots.

B. Growth pouch experiment was performed to evaluate nodulation.

C. Addition of Zeatin at 1-5 micrograms per liter improves the nodulation.

D. Mechanism underlying the inerease i nodulation by cytokinins is well understood.
E. Role of cytokinins in nodulation is not clearly understood.

Choose the correct answer from the option given below :
1.b.AC,B,D,E
2.A.B.C.Donly
3.A.B.C.E only

4. A B.Donly

Options :

68634091165. 1
68634091166. 2
68634091167. 3
68634091168. 4

Question Number : 92 Question Id : 68634023070 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634091165. 1
68634091166. 2
68634091167. 3
68634091168. 4



Question Number : 93 Question Id : 68634023071 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LISTI LISTII
A |lodoacetamide [ |Dissolves middle lamella
B. |PEG (Polvethylene Glveol)| I |Culture of single protoplast
C. Macerozvme II1. [Fusogen
D. Microdrop method IV. [Inhibits glycolvtic enzvmes

Choose the correct answer from the options given below:

1. A-I, B-II, C-IV. D-ITI

| ]

CA-IV, B-IIL, C-1. D-II

CA-IIL B-LL C-ILL, D-IV

L]

4. A-I1. B-IV. C-III, D-I

Options :

68634091169. 1
68634091170. 2
68634091171. 3
68634091172. 4

Question Number : 93 Question Id : 68634023071 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-I. B-II. C-IV, D-IIL

ol e[

| ]

CA-IV, B-III, C-1, D-II

A-IIL B-I. C-I1. D-IV

L% ]

4. A-II. B-IV. C-1II, D-I

Options :

68634091169. 1
68634091170. 2
68634091171. 3



68634091172. 4

Question Number : 94 Question Id : 68634023072 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Stage ] I. |Acclimatization of propagules.
B. [Stage I II. |Regeneration of shoots.
C. [State II1 II1. |Transfer to green house.
D. |Stage IV IV [Establishment of tissue in Fifro

Choose the correct answer from the options grven below:

1. A-IV. B-I, C-II. D-III

| )

AT B-IV, C-1, D-ITT

CA-IL B-IL C-IV. D-III

L 5]

4. A-IV, B-11. C-1. D-ITT

Options :

68634091173. 1
68634091174. 2
68634091175. 3
68634091176. 4

Question Number : 94 Question Id : 68634023072 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-IV. B-1, C-IL, D-IIT

)

A-IL B-IV. C-I, D-III

CA-IL B-1L C-IV, D-III

Lad

4. A-IV. B-II. C-I. D-III

Options :
68634091173. 1



68634091174. 2
68634091175. 3
68634091176. 4

Question Number : 95 Question Id : 68634023073 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is NOT an application of embryo culture.

1. Overcoming dormancy and shortening breeding cycle.

[

. Overcoming seed sterility

. Production of monoploids of Barley

L]

4. Regeneration of triploid plants

Options :

68634091177. 1
68634091178. 2
68634091179. 3
68634091180. 4

Question Number : 95 Question Id : 68634023073 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FEARIRET & 9 ST Y01 a8 &1 U SuanT 81 § -
1. TSl § GEBRI UM SR Yoi= =g Bl DIel H & [au
. §IS 99901 & GebRI U & ey
TR (S H Ul &1 ScigA
4. PTTOTE Tel &1 GAeiAA (Wei)
Options :
68634091177. 1
68634091178 2

68634091179. 3
68634091180. 4
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Question Number : 96 Question Id : 68634023074 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Advances 1n plant biotechnology 1s assured through fundamental discoveries. These mclude :

A. Plant gene 1solation

B. Plant gene analyses

C. Plant transformation

D. Plant nutritional deficiency
E. Plant environmental studies

Choose the correct answer from the option given below :

1. A. B and C only

[

A Cand D only
3.A.Cand E only

4.B. C and E only

Options :

68634091181. 1
68634091182. 2
68634091183. 3
68634091184. 4

Question Number : 96 Question Id : 68634023074 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634091181. 1
68634091182. 2
68634091183. 3
68634091184. 4



Question Number : 97 Question Id : 68634023075 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Cyvtokinins I. |[Embryo from any somatic cell
Clonal Propagation II. Kinetin

Somatic Embrvogenesis| II1. |Adjacent Protoplast Fusion

NEEE

[Homokaryons IV. Micropropagation

Choose the correct answer from the options given below:

1. A-IT1. B-IV. C-1. D-ITI

| ]

CA-L B-III. C-IV. D-II

CACIIL B-IL, C-L D-IV

L]

4. A-IV. B-II, C-III D-I

Options :

68634091185. 1
68634091186. 2
68634091187. 3
68634091188. 4

Question Number : 97 Question Id : 68634023075 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-IL. B-IV. C-L, D-IIL

| ]

CA-L B-II0L C-IV, D-II

A-IIL B-IL. C-1. D-IV

L% ]

4. A-IV. B-II. C-1II, D-I

Options :

68634091185. 1
68634091186. 2
68634091187. 3



68634091188. 4

Question Number : 98 Question Id : 68634023076 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Treatment of microspore cultures with which drug results in endoreduplication or endomitosis.

1. Kanamycin

[ 2]

. Chloramphenicol

. Colchicine

L8]

4, Gamma Irradiation

Options :

68634091189. 1
68634091190. 2
68634091191. 3
68634091192. 4

Question Number : 98 Question Id : 68634023076 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634091189. 1
68634091190. 2
68634091191. 3
68634091192. 4
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Question Number : 99 Question Id : 68634023077 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Protoplasts fusion sequences are given below:
Choose the most appropriate one :

A. Two separate protoplasts — Dumbbell shape — Agglutination — Membrane fusion — spherical
heterokaryon — Nuclear fusion

B. Two separate protoplasts — Agglutination — Membrane fusion — Dumbbell shaped stage — spherical
heterokaryon — Nueclear fusion (or) Hybrid cell

C. Agglutination — Separate Protoplasts — Dumbbell shape — Membrane fusion — Nuclear fusion —
Heterokaryon

D. Two separate protoplasts — Membrane fusion — Agglutmation — Dumbbell shaped — Hybrid —
Heterokaryon

E. Two separate protoplasts — Heterokaryon — Fusion — Hybrid cell — Dumbbell shaped — Nuclear
fusion

Choose the correct answer from the option given below :

1.A

!u

B
3.C

4D

Options :

68634091193. 1
68634091194. 2
68634091195. 3
68634091196. 4

Question Number : 99 Question Id : 68634023077 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634091193. 1
68634091194. 2
68634091195. 3
68634091196. 4

Question Number : 100 Question Id : 68634023078 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is NOT used for surface sterilization of the explant material used in micropropagation?

[

. Sodum hypochloride

2

. Mercurie chloride

L]

. Hydrogen peroxide

e

. Polyethylene glycol

Options :

68634091197. 1
68634091198. 2
68634091199. 3
68634091200. 4

Question Number : 100 Question Id : 68634023078 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634091197. 1
68634091198. 2
68634091199. 3
68634091200. 4
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